
ARCOSYSTEM® FOR BRIDGES + WALLS 1

CASTIONI
KABELFÜHRUNGSSYSTEME

ARCOSYSTEM® FOR BRIDGES+WALLS



2 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 3



4 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 5



6 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 7

 424 

 300 

 160 

 115 

 3
6,

5 
 7

5 

 1
80

 

 155 
 159,8 

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

Wandbefestigung schmal LA115 mit 
2x Schelle Größe 1
wall bracket slim LA115 with
2x connection plate size 1

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x140
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x140
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

Schellenblech LA115
Sheetbracket LA115

steel surface: hot-galvanized thickness of 60-80 microns

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 26.04.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Wandbefestigung verschwenkbar schmal LA115
ARCOEINS (180mm)
Slim Single Plane Swivel Wall Bracket LA115  
Size 1 (180mm)

1:5

DIN2768-m St     Feuerverzinkt

1313-0131-00

Art.-Nr.: 

Hole distance 115 mm

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x120
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x120
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 250 

 424 

 2
12

 

 3
6,

5 

 170 

 7
5  1

80
 

 245 

 325 

 298,5 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 17.01.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung ARCOZWEI  (170)
Out Hanging System Size 2  (170)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0155-00

Art.-Nr.: 

Hole distance 170 mm

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x120
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x120
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 190 

 250 

 424 

 2
12

 

 3
6,

5 
 7

5  1
80

 

 245 

 325 

 298,5 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 27.09.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung ARCOZWEI
Out Hanging System Size 2

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0144-00

Art.-Nr.: E308

Hole distance 190 mmSize 1 slim
180 mm

Size 2
180/300 mm

S T A N D A R D V A R I A T I O N S
Overall height 180 mm
ARCOSYSTEM® Size 1+2
Hole distance 100 mm

Overall height 300 mm
ARCOSYSTEM® Size 1+2
Hole distance 110 mm

Further solutions/
hole distances on request.

Round Head Screw M12 Standard 100 mm

 7
5 

 100 

 423 

 160 

 3
6,

5 

steel surface: hot-galvanized thickness of 60-80 microns

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 249,8 

 1
80

 

 70 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 20.03.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar
ARCOEINS (180mm)
Single Plane Swivel O/H Post Fixing
Size 1 (180mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0098-00

Art.-Nr.:  VT11-P002-E301

 7
5 

 100 

 423 

 160 

 3
6,

5 

steel surface: hot-galvanized thickness of 60-80 microns

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 249,8 

 1
80

 

 70 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 20.03.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar
ARCOEINS (180mm)
Single Plane Swivel O/H Post Fixing
Size 1 (180mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0098-00

Art.-Nr.:  VT11-P002-E301

 7
5 

 100 

 423 

 160 

 3
6,

5 

steel surface: hot-galvanized thickness of 60-80 microns

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 249,8 

 1
80

 

 70 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 20.03.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar
ARCOEINS (180mm)
Single Plane Swivel O/H Post Fixing
Size 1 (180mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0098-00

Art.-Nr.:  VT11-P002-E301

 7
5 

 100 

 423 

 160 

 3
6,

5 

steel surface: hot-galvanized thickness of 60-80 microns

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 249,8 

 1
80

 

 70 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 20.03.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar
ARCOEINS (180mm)
Single Plane Swivel O/H Post Fixing
Size 1 (180mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0098-00

Art.-Nr.:  VT11-P002-E301

18
0/

30
0

 422 

 110 

 3
0 

 2
00

 

 160 

 3
00

 

 70 

 324,8 

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 28.07.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar 
ARCOZWEI (300mm)
Single Plane Swivel O/H Post Fixing
Size 2 (300mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0055-00

Art.-Nr.: VT1011-P002-A028K

18
0/

30
0

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 170 

 7
5 

 250 

 3
6,

5 

 424 

 2
12

 

 1
80

 

 155 

 159,8 

 148,5 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 25.04.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung ARCOEINS  (170) schmal
Slim Out Hanging System Size 1  (170) 

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0192-00

Art.-Nr.:  VT11-P002-E333L

Other lengths on request.

Overall height 180/300 mm

OUTHANGING SYSTEMS

Size 1
180/300 mm

 110 - 118 

 3
0 

 2
00

 

 160 

 422 

 3
00

 

 249,8 

 70 

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.08.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar 
ARCOEins (300mm)
Single Plane Swivel O/H Post Fixing
Size 1 (300mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0054-00

Art.-Nr.: VT1011-P002-A027K

A Schraubenabst. variabel 15.04.19 Hz

 110 - 118 

 3
0 

 2
00

 

 160 

 422 

 3
00

 

 249,8 

 70 

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.08.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar 
ARCOEins (300mm)
Single Plane Swivel O/H Post Fixing
Size 1 (300mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0054-00

Art.-Nr.: VT1011-P002-A027K

A Schraubenabst. variabel 15.04.19 Hz

 110 - 118 

 3
0 

 2
00

 

 160 

 422 

 3
00

 

 249,8 

 70 

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.08.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar 
ARCOEins (300mm)
Single Plane Swivel O/H Post Fixing
Size 1 (300mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0054-00

Art.-Nr.: VT1011-P002-A027K

A Schraubenabst. variabel 15.04.19 Hz

 110 - 118 

 3
0 

 2
00

 

 160 

 422 

 3
00

 

 249,8 

 70 

vormontiert mit:
4 Stck. Flachrundschraube DIN603  M12x100
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Flat base screw DIN603  M12x100
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.08.17
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenkonsole verschwenkbar 
ARCOEins (300mm)
Single Plane Swivel O/H Post Fixing
Size 1 (300mm)

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0054-00

Art.-Nr.: VT1011-P002-A027K

A Schraubenabst. variabel 15.04.19 Hz



8 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 9

Positioning of round head screw can be done from both sides

INSTALLATION BACKPLATE



10 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 11

FRIEDRICHSHAFEN

1313-0099-00
(bei Gr.1)
1313-0077-00
(bei Gr.2)

3 Stck. Flachrundschraube DIN603  M12x140
3 Stck. Mutter DIN934 M12
3 Stck. Federring DIN127 Gr.12
3 Stck. Scheibe DIN9021 13

Brückenträger

2x Schraube DIN933 M12x40
2x Mutter DIN 934 M12

2x Schraube DIN933 M12x40
2x Mutter DIN 934 M12

2x Schraube DIN933 M12x100
2x Mutter DIN 934 M12

4x Schraube DIN933 M12x40
4x Mutter DIN 934 M12
4x Federring DIN127 Gr.12
8x Scheibe DIN9021 13

 1
05

 

 712 

 520 

 504mm - 514mm 

 4
56

 

 6 

 6  86 

 1
17

 

Klemmprofil
(mit 2x Knoten)

Konterwinkel
(mit 2x Knoten)

 180 

 100 

 6
8,

5 
 7

5 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Ansicht ohne Brückenträger
und Artikel 1313-0099-00
(nur eine Schraube dargestellt)

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.04.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmprofil für Brückenträger
(Brücke Friedrichshafen)

1:5

DIN2768-m St     Feuerverzinkt

191935-00

1313-0099-00
(bei Gr.1)
1313-0077-00
(bei Gr.2)

3 Stck. Flachrundschraube DIN603  M12x140
3 Stck. Mutter DIN934 M12
3 Stck. Federring DIN127 Gr.12
3 Stck. Scheibe DIN9021 13

Brückenträger

2x Schraube DIN933 M12x40
2x Mutter DIN 934 M12

2x Schraube DIN933 M12x40
2x Mutter DIN 934 M12

2x Schraube DIN933 M12x100
2x Mutter DIN 934 M12

4x Schraube DIN933 M12x40
4x Mutter DIN 934 M12
4x Federring DIN127 Gr.12
8x Scheibe DIN9021 13

 1
05

 

 712 

 520 

 504mm - 514mm 

 4
56

 

 6 

 6  86 

 1
17

 

Klemmprofil
(mit 2x Knoten)

Konterwinkel
(mit 2x Knoten)

 180 

 100 

 6
8,

5 
 7

5 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Ansicht ohne Brückenträger
und Artikel 1313-0099-00
(nur eine Schraube dargestellt)

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.04.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmprofil für Brückenträger
(Brücke Friedrichshafen)

1:5

DIN2768-m St     Feuerverzinkt

191935-00

Cable trough 
Size 1

cross-section
Position 
cable trough 
highlighted 
in red

Initial situation

After the installation

Counter elbow

Clamp profile



12 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 13

T A U P L I T Z

 372 
 3

0 

 3
26

 

 6 

 6
 

Klemmprofil
(mit 2x Knoten)

Klemmplatte 
(einstellbar)

 100 
 180 

 13,5 

 2
6,

5 

 4
5 

 7
5 

4x Schraube DIN933 M12x40
4x Mutter DIN 934 M12
4x Federring DIN127 Gr.12
8x Scheibe DIN9021 13

1313-0099-00
(bei Gr.1)
1313-0077-00
(bei Gr.2)

2x Schraube DIN933 M12x40
2x Mutter DIN 934 M12

3 Stck. Flachrundschraube DIN603  M12x40
3 Stck. Mutter DIN934 M12
3 Stck. Federring DIN127 Gr.12
3 Stck. Scheibe DIN9021 13

Brückenträger

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Ansicht ohne Brückenträger
und Artikel 1313-0077-00

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 24.07.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmprofil für Brückenträger
(Brücke Tauplitz)

1:7.5

DIN2768-m St     Feuerverzinkt

192982-00

 372 

 3
0 

 3
26

 

 6 

 6
 

Klemmprofil
(mit 2x Knoten)

Klemmplatte 
(einstellbar)

 100 
 180 

 13,5 

 2
6,

5 

 4
5 

 7
5 

4x Schraube DIN933 M12x40
4x Mutter DIN 934 M12
4x Federring DIN127 Gr.12
8x Scheibe DIN9021 13

1313-0099-00
(bei Gr.1)
1313-0077-00
(bei Gr.2)

2x Schraube DIN933 M12x40
2x Mutter DIN 934 M12

3 Stck. Flachrundschraube DIN603  M12x40
3 Stck. Mutter DIN934 M12
3 Stck. Federring DIN127 Gr.12
3 Stck. Scheibe DIN9021 13

Brückenträger

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Ansicht ohne Brückenträger
und Artikel 1313-0077-00

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 24.07.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmprofil für Brückenträger
(Brücke Tauplitz)

1:7.5

DIN2768-m St     Feuerverzinkt

192982-00

Initial situation After the installation

After the installation

Clamp plate

Clamp profile



14 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 15

KOCHELSEEBAHN
Initial situation

After the installation

65

1424

70

354

Winkel bauseitig vorhanden

300

(Werkstoff)

174095-00
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 29.08.17
Datum

Igelbrink
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung gerade
Größe 2

1:1 

NP-Blechtechnik

DIN2768-m
K\DXF Kundendaten
Castioni\Zg-Nr.

--

(DIN-A0)

65

1424

70

354

Winkel bauseitig vorhanden

300

(Werkstoff)

174095-00
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 29.08.17
Datum

Igelbrink
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung gerade
Größe 2

1:1 

NP-Blechtechnik

DIN2768-m
K\DXF Kundendaten
Castioni\Zg-Nr.

--

(DIN-A0)

65

1424

70

354

Winkel bauseitig vorhanden

300

(Werkstoff)

174095-00
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 29.08.17
Datum

Igelbrink
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung gerade
Größe 2

1:1 

NP-Blechtechnik

DIN2768-m
K\DXF Kundendaten
Castioni\Zg-Nr.

--

(DIN-A0)

372,75

70

1424

65

Winkel bauseitig verändert

300

(Werkstoff)

174095-02
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 29.08.17
Datum

Igelbrink
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung mit 
Absenkung / Größe 2

1:1 

NP-Blechtechnik

DIN2768-m
K\DXF Kundendaten
Castioni\Zg-Nr.

--

(DIN-A0)

372,75

70

1424

65

Winkel bauseitig verändert

300

(Werkstoff)

174095-02
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 29.08.17
Datum

Igelbrink
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung mit 
Absenkung / Größe 2

1:1 

NP-Blechtechnik

DIN2768-m
K\DXF Kundendaten
Castioni\Zg-Nr.

--

(DIN-A0)

372,75

70

1424

65

Winkel bauseitig verändert

300

(Werkstoff)

174095-02
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 29.08.17
Datum

Igelbrink
Name

Maßstab (Oberfläche)

Blätter

Blatt

Brückenbefestigung mit 
Absenkung / Größe 2

1:1 

NP-Blechtechnik

DIN2768-m
K\DXF Kundendaten
Castioni\Zg-Nr.

--

(DIN-A0)



16 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 17

M U R N A U 4
 

 4
 

 4 

2x Schelle Gr.1
4x Mutter M10 DIN934
4x Federring Gr.10 DIN127
4x Scheibe 10,5 DIN9021

1x Trägerplatte
4x Mutter M12 DIN934
4x Federring Gr.12 DIN127
4x Scheibe 13 DIN9021
4x Sechsk.-Schraube M12x60 DIN933

1x Verstärkung
2x Mutter M12 DIN934
2x Federring Gr.12 DIN127
2x Scheibe 13 DIN9021
2x Sechsk.-Schraube M12x60 DIN933

1x Klemmwinkel

Bügel (vorhanden) 300 

 120 
 84 

 5
0 

 2
50

 

 3
98

,5
0 

 423 
(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.03.17
Datum

Hinz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Sonderkonsole für Bügel
Kanalschelle Gr.1

1:10

DIN2768-m St     Feuerverzinkt

171302-01

 4
 

 4
 

 4 

2x Schelle Gr.1
4x Mutter M10 DIN934
4x Federring Gr.10 DIN127
4x Scheibe 10,5 DIN9021

1x Trägerplatte
4x Mutter M12 DIN934
4x Federring Gr.12 DIN127
4x Scheibe 13 DIN9021
4x Sechsk.-Schraube M12x60 DIN933

1x Verstärkung
2x Mutter M12 DIN934
2x Federring Gr.12 DIN127
2x Scheibe 13 DIN9021
2x Sechsk.-Schraube M12x60 DIN933

1x Klemmwinkel

Bügel (vorhanden) 300 

 120 
 84 

 5
0 

 2
50

 

 3
98

,5
0 

 423 
(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.03.17
Datum

Hinz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Sonderkonsole für Bügel
Kanalschelle Gr.1

1:10

DIN2768-m St     Feuerverzinkt

171302-01

 4
 

 4
 

 4 

2x Schelle Gr.1
4x Mutter M10 DIN934
4x Federring Gr.10 DIN127
4x Scheibe 10,5 DIN9021

1x Trägerplatte
4x Mutter M12 DIN934
4x Federring Gr.12 DIN127
4x Scheibe 13 DIN9021
4x Sechsk.-Schraube M12x60 DIN933

1x Verstärkung
2x Mutter M12 DIN934
2x Federring Gr.12 DIN127
2x Scheibe 13 DIN9021
2x Sechsk.-Schraube M12x60 DIN933

1x Klemmwinkel

Bügel (vorhanden) 300 

 120 
 84 

 5
0 

 2
50

 

 3
98

,5
0 

 423 
(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.03.17
Datum

Hinz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Sonderkonsole für Bügel
Kanalschelle Gr.1

1:10

DIN2768-m St     Feuerverzinkt

171302-01

 4
 

 4
 

 4 

 4 

2x Schelle Gr.1
4x Mutter M10 DIN934
4x Federring Gr.10 DIN127
4x Scheibe 10,5 DIN9021

1x Trägerplatte Absenkung links
4x Mutter M12 DIN934
4x Federring Gr.12 DIN127
4x Scheibe 13 DIN9021
4x Sechsk.-Schraube M12x60 DIN933

1x Verstärkung
2x Mutter M12 DIN934
2x Federring Gr.12 DIN127
2x Scheibe 13 DIN9021
2x Sechsk.-Schraube M12x60 DIN933

1x Klemmwinkel

Bügel (vorhanden)

 120 
 84 

 60° 

 3
0°

 

 220 

 160  214 

 281,5 

 5
0 

 2
50

 

 3
98

,5
0 

 469 

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.03.17
Datum

Hinz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Sonderkonsole für Bügel
Kanalschelle Gr.1
Absenkung links

1:10

DIN2768-m St     Feuerverzinkt

171302-02

 4
 

 4
 

 4 

 4 

2x Schelle Gr.1
4x Mutter M10 DIN934
4x Federring Gr.10 DIN127
4x Scheibe 10,5 DIN9021

1x Trägerplatte Absenkung links
4x Mutter M12 DIN934
4x Federring Gr.12 DIN127
4x Scheibe 13 DIN9021
4x Sechsk.-Schraube M12x60 DIN933

1x Verstärkung
2x Mutter M12 DIN934
2x Federring Gr.12 DIN127
2x Scheibe 13 DIN9021
2x Sechsk.-Schraube M12x60 DIN933

1x Klemmwinkel

Bügel (vorhanden)

 120 
 84 

 60° 

 3
0°

 

 220 

 160  214 

 281,5 

 5
0 

 2
50

 

 3
98

,5
0 

 469 

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.03.17
Datum

Hinz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Sonderkonsole für Bügel
Kanalschelle Gr.1
Absenkung links

1:10

DIN2768-m St     Feuerverzinkt

171302-02

Initial situation After the installation



18 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 19

H A L L S T A T T
Wandbefestigung 
Artikel 1313-0077-00

Trog ARCOZWEI

 170° 

 5
00

 

 500 

 2
0°

 

 ca. 3055 

Konsole "Sonder"
202008-01

 700 

 350 
 290 

 13,50 

 4
0 

 3
6,

50
 

 7
5 

 245 

 2
0 

 1
80

 

 20 

 48,4°  4 

 3
8 

 85 

 11
4,9

3 

 96
 

Schlitz verschweißt 
(nicht verschliffen)

Konsole "Sonder"
202008-01
M1:5

Datum

(Toleranz)

Zust. DatumÄnderung Name Kunde:

Gepr.
Norm

Bearb.

(Oberfläche)

(Werkstoff)

Name

Blätter

Blatt

Maßstab 1:20  (A2)

DIN2768-m

04.05.20 Hz

Kd.-Nr.:

All information included on this drawing 
is property to Castioni 
Kabelführungssysteme GmbH and is 
furnished for use in operation, repair 
and maintenance of Castioni 
Kabelführungssysteme GmbH  products. 
Its reproduction for use in any other way 
or for any commercial purpose without 
prior written permissionis forbidden. All 
rights on this material are reserved. This 
legend shall be marked on any 
reproducton here or in whole or in part.

St37-2  Feuerverzinkt

Wandbefestigung verschwenkbar breit (350 mm) ARCOSYSTEM® 
Grösse 2 
Single Plane Swivel Wall Bracket large (350 mm)

202008-00

Art.-Nr.: VT12-P0012-Z521

steel surface: hot-galvanized thickness of 60-80 microns

Wandbefestigung 
Artikel 1313-0077-00

Trog ARCOZWEI

 170° 

 5
00

 

 500 

 2
0°

 

 ca. 3055 

Konsole "Sonder"
202008-01

 700 

 350 
 290 

 13,50 

 4
0 

 3
6,

50
 

 7
5 

 245 

 2
0 

 1
80

 

 20 

 48,4°  4 

 3
8 

 85 

 11
4,9

3 

 96
 

Schlitz verschweißt 
(nicht verschliffen)

Konsole "Sonder"
202008-01
M1:5

Datum

(Toleranz)

Zust. DatumÄnderung Name Kunde:

Gepr.
Norm

Bearb.

(Oberfläche)

(Werkstoff)

Name

Blätter

Blatt

Maßstab 1:20  (A2)

DIN2768-m

04.05.20 Hz

Kd.-Nr.:

All information included on this drawing 
is property to Castioni 
Kabelführungssysteme GmbH and is 
furnished for use in operation, repair 
and maintenance of Castioni 
Kabelführungssysteme GmbH  products. 
Its reproduction for use in any other way 
or for any commercial purpose without 
prior written permissionis forbidden. All 
rights on this material are reserved. This 
legend shall be marked on any 
reproducton here or in whole or in part.

St37-2  Feuerverzinkt

Wandbefestigung verschwenkbar breit (350 mm) ARCOSYSTEM® 
Grösse 2 
Single Plane Swivel Wall Bracket large (350 mm)

202008-00

Art.-Nr.: VT12-P0012-Z521

steel surface: hot-galvanized thickness of 60-80 microns



20 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 21

F R E C K L E B E N

vormontiert mit:
4 Stck. Mutter DIN934 M12
4 Stck. Federring DIN127 Gr.12
4 Stck. Scheibe DIN9021 13
preassembled with:
4 Pieces Hex nut DIN EN 24032 M12
4 Pieces Split washer DIN127 - A12
4 Pieces Plain washer DIN9021 - 13

 R8 

 8 

 25 

 M
12

 

Taumelgewindestift M12
Set screw  M12

 400 

 1
00

 

 1
60

 

 200  140 

 1
8,

5 
 20 

 60 

 2
25

 

 100 

 3
0 

 7
5 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 30.11.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Adapterwinkel Wandbefestigung
Adapter Bracket Wall Mount

1:5

DIN2768-m St37-2  Feuerverzinkt

1313-0154-00

Art.-Nr.: 

A Blechstärke, Langlöcher 12.02.19 Hz

Initial situation

After the installation



22 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 23

G Ö T T I N G E N



24 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 25

BAD MITTERNDORF 1
60

 

 2
17

,4
 

 1
37

,4
 

 442,1 

 1
2 

5x
 12 

 4 

 3
10

 

 3
00

 

Aufnahmeplatte

Klemmplatte

vorhandene Trägerkonstruktion

5x Artikel 1313-0143-00
2x Artikel 1313-0170-00
(nicht dargestellt)

 300 

 1
30

 

 70 
 210 

 250 

 2
0 

vormontiert mit:
4 Stck. Sechskantschraube DIN931 M16x60
4 Stck. Federring DIN127 Gr.16
8 Stck. Scheibe DIN9021 17
4 Stck. Mutter DIN985  M16

vormontiert mit:
3 Stck. Sechskantschraube DIN933 M16x40
4 Stck. Mutter DIN934  M16

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Aufnahmeplatte

Klemmplatte (2x je Einheit)

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.07.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmadapter für schräglaufenden Träger

1:7.5

DIN2768-m S235     Feuerverzinkt

202871-00

 1
60

 

 2
17

,4
 

 1
37

,4
 

 442,1 

 1
2 

5x
 12 

 4 

 3
10

 

 3
00

 

Aufnahmeplatte

Klemmplatte

vorhandene Trägerkonstruktion

5x Artikel 1313-0143-00
2x Artikel 1313-0170-00
(nicht dargestellt)

 300 

 1
30

 

 70 
 210 

 250 

 2
0 

vormontiert mit:
4 Stck. Sechskantschraube DIN931 M16x60
4 Stck. Federring DIN127 Gr.16
8 Stck. Scheibe DIN9021 17
4 Stck. Mutter DIN985  M16

vormontiert mit:
3 Stck. Sechskantschraube DIN933 M16x40
4 Stck. Mutter DIN934  M16

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Aufnahmeplatte

Klemmplatte (2x je Einheit)

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.07.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmadapter für schräglaufenden Träger

1:7.5

DIN2768-m S235     Feuerverzinkt

202871-00

 1
60

 

 2
17

,4
 

 1
37

,4
 

 442,1 

 1
2 

5x
 12 

 4 

 3
10

 

 3
00

 

Aufnahmeplatte

Klemmplatte

vorhandene Trägerkonstruktion

5x Artikel 1313-0143-00
2x Artikel 1313-0170-00
(nicht dargestellt)

 300 

 1
30

 

 70 
 210 

 250 

 2
0 

vormontiert mit:
4 Stck. Sechskantschraube DIN931 M16x60
4 Stck. Federring DIN127 Gr.16
8 Stck. Scheibe DIN9021 17
4 Stck. Mutter DIN985  M16

vormontiert mit:
3 Stck. Sechskantschraube DIN933 M16x40
4 Stck. Mutter DIN934  M16

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Aufnahmeplatte

Klemmplatte (2x je Einheit)

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.07.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmadapter für schräglaufenden Träger

1:7.5

DIN2768-m S235     Feuerverzinkt

202871-00

 1
60

 

 2
17

,4
 

 1
37

,4
 

 442,1 

 1
2 

5x
 12 

 4 

 3
10

 

 3
00

 

Aufnahmeplatte

Klemmplatte

vorhandene Trägerkonstruktion

5x Artikel 1313-0143-00
2x Artikel 1313-0170-00
(nicht dargestellt)

 300 

 1
30

 
 70 

 210 

 250 

 2
0 

vormontiert mit:
4 Stck. Sechskantschraube DIN931 M16x60
4 Stck. Federring DIN127 Gr.16
8 Stck. Scheibe DIN9021 17
4 Stck. Mutter DIN985  M16

vormontiert mit:
3 Stck. Sechskantschraube DIN933 M16x40
4 Stck. Mutter DIN934  M16

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Aufnahmeplatte

Klemmplatte (2x je Einheit)

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 07.07.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmadapter für schräglaufenden Träger

1:7.5

DIN2768-m S235     Feuerverzinkt

202871-00

Initial situation

After the installation



26 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 27

F A R C H A N T 7
0 

 1
10

 

 75 
 95 

 6
6 

 1
20

 

 2
7 

 480 

 6 

 2
45

 

 243 

 4
9,

5 

 25 

 6 

 100 

 3
6,

5 

 1
11

,5
  2

99
 

 13,5 

 160 
(3x)

3x Schraube DIN933 M12x45
3x Mutter DIN934 M12
3x Federring Gr.12
6x Scheibe DIN125 13

4x Schraube DIN933 M12x45
4x Mutter DIN934 M12

 2
95

 

 9
9,

5 

 7
7 

 7
5 

 3
49

 

 160 

 1
24

,5
 

 1
02

 

 3
20

  3
74

 

 160 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Klemmadapter 25 Klemmadapter 75 Klemmadapter 100

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 30.07.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmadapter für Brücke Frachant

1:5

DIN2768-m St     Feuerverzinkt

203218-00

Art.-Nr.:  

 7
0 

 1
10

 

 75 
 95 

 6
6 

 1
20

 

 2
7 

 480 

 6 

 2
45

 

 243 

 4
9,

5 

 25 

 6 

 100 

 3
6,

5 

 1
11

,5
  2

99
 

 13,5 

 160 
(3x)

3x Schraube DIN933 M12x45
3x Mutter DIN934 M12
3x Federring Gr.12
6x Scheibe DIN125 13

4x Schraube DIN933 M12x45
4x Mutter DIN934 M12

 2
95

 

 9
9,

5 

 7
7 

 7
5 

 3
49

 

 160 

 1
24

,5
 

 1
02

 

 3
20

  3
74

 

 160 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

Klemmadapter 25 Klemmadapter 75 Klemmadapter 100

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 30.07.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Klemmadapter für Brücke Frachant

1:5

DIN2768-m St     Feuerverzinkt

203218-00

Art.-Nr.:  

Initial situation
After the installation



28 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 29

LONDON  B R IDGE
300

75

79

18

V
er

fo
rm

un
g 

zu
lä

ss
ig

D
ef

or
m

at
io

n 
al

lo
w

ed

120

12
0

11
1

22
2

300

NACH UNTEN  90° 

W
in

ke
l li

nk
s /

 re
ch

ts
 si

nd
 id

en
tis

ch
A

ng
le

 le
ft 

/ 
rig

ht
 a

re
 id

en
tic

al

(W
erk

sto
ff)

20
50

99
-03

Kd
.-Z

g.-
Nr

.

(To
ler

an
z)

(Pr
g-

Nr
.:)

Na
me

Än
de

run
g

Zu
st.

Da
tum

Ku
nd

e

Ge
pr

.
No

rm

Be
ar

b.
02

.12
.20

Da
tum

Hin
z

Na
me

Ma
ßst

ab

Blä
tte

r

Bla
tt

Wi
nk

el 
für

 W
an

db
efe

stig
un

g
Wa

ll m
ou

nti
ng

 br
ac

ke
t

1:1

DI
N 

71
68

-m
S2

35
   /

  1
0.0

0
DX

F-N
P-D

at
eie

n
Ca

stio
ni\

Zg
-N

r.

-
-

RW
=5

5
x=

18
Fe

ue
rve

rzin
kt

NOTES

1. Do not scale from this drawing. Use figured dimensions only.
If in doubt ask.

2. All dimensions in millimeters unless otherwise stated. All
levels in metres.

3. This drawing is to be read in conjunction with all other
Engineer's, Architects and Specialist's drawings, the
specifications, bill of quantities and contract documents.

4. Elevated trough to be Scot Parnell ARCOSYSTEM Type 2
supported as indicated.

5. Elevated trough supports are to be provided at a maximum
of 6000mm c/c with additional supports provided as required
to facilitate spans between fixed existing positions (i.e.
across the bridge).

6. Trough system is to be secured as per the manufacturer's
literature with a security strap lid closer (size 2) item no.
VT12-P002-1091.

7. Wall mounted troughs are to be fixed using the denoted
brackets using HILTI Hit V-R rods (M12; embedment as
indicated) and HILTI Hit HY-270 injection mortar.

8. Ground level troughs are to be Anderlite C/1/43 type or
similar approved. The Contractor is to ensure sufficient
trough is available for re-use.

9. Anderlite trough lids to be saw cut as required. Cut edges are
to be treated with Bitumen paint.

10. New steelwork to be coated with N1 coating system in
accordance with NR standard NR/L3/CIV/039. Finish and
colour to match adjacent brackets where possible.

11. De-vegetation works are to be undertaken as required (by
Others). De-vegetation works are to consider the potential
presence of invasive species (such as Japanese Knotweed).

HV
S&T

ETE

Existing galvanised steel stair landing

GRP walkway (38mm) mounted on GRP  C channel (203 x 55mm w/ angle
cleats) and pedestal. Tek screws to connect mesh with EQA using square
recessed M8 washers.

Galvanised steel angle (150 x 150 x 10; min. S275)

3No. M12 fixings spaced equally (min 25mm. from any edge)

≈1
80

40
0

Existing wall / coping unit

6000 c/c (max.)

45° (Vt)
Universal hinged swivel
wall bracket (size 2)
VT12-P002-Z504

Single plane swivel wall bracket (size 2) 30° to wall CL (Hz) VT12-P002-Z502

Detail to be reversed  as required for incline/decline and deviations onto/off the existing wall

Existing wall CLSee notes
for fixing
details

DUCT OMITTED FOR CLARITY

Min. 1000

Minor deviation in plan may be required to accommodate change in stand-off

Bespoke refuge
bracket

Detail to be
mirrored following
refuge

350

LID RETENTION
OVERHANG OMITTED
FOR CLARITY

30
0

3No. M12 bolts to be
drilled and fixed on site

to avoid bridge stiffener
fixings

120
2No. 120 x 120 x 10 EQA (min grade S275)

1172

See enlargement for further details

4No. M12 fixings (see notes )

Raking out and
re-pointing required
where mortar will be
inaccessible due to
new trough location

Size 2 trough

Single plane swivel wall bracket size 2
(180); VT12-P002-Z502
or
Universal hinged swivel wall bracket
size 2 (180) VT12-P002-Z504 at changes
in angle (Vt only)

Dimension unknown

2No. M12 fixings (150mm embedment)
M14 holes to suit M12 fixings. Holes
offset 50mm from all edges (i.e. 400mm
c/c)

32
0

50

200

735

30

23
5

6

All connections to have 6mm fillet weld

2No. M12 fixings (50mm embedment)
M14 holes to suit M12 fixings. Holes offset
50mm from all edges (i.e. 300mm c/c)

Coping stone shown indicatively only

Size 2 trough

Optional hinge/retainer via pre-drilled holes,
washers, Kevlar/nylon strap and pop rivets (drilled
and fixed on site; 2No. per lid)

30° floor fixing (size 2)
VT12-P002-1074 secured with Tex

screws (drilled on site)
500mm wide min.

grade S75 steel plate

Existing wall

Size 2
trough

Floor fixing straight (size 2)
VT12-P002-1070

To be fixed with over-drilled
Tex screws

406

23
5

120

79

18 13 75
 c

/c

14

30
0

10

16
41 (max. without
additional plate)

280

37
37

37
37

14
9

25 25

10075

4No. 50mm long M12 threaded studs
welded to plate face

M14 holes to suit M12 fixings

6mm thk. min. grade S275
Additional plate allows for larger
spacing between EQA (see detail

B) to accommodate existing
bridge modifications (thk.

unknown).

Proprietary trough, lid and wall
bracket (size 2)

TO BE REPRODUCED IN COLOUR ONLY

N430-PAS-DRG-CV-024 B01

As Shown

P.Thurlwell

P.Thurlwell

P. Bennett

Cable Containment
London Bridge

N430 Thameslink Remedial Works

BAM Nuttall

Notes below are additional to hazards/risks normally associated
with this type of work. Number reference correspond to
Designer's Risk Register references.

SAFETY, HEALTH AND ENVIRONMENTAL INFORMATION

CONSTRUCTION

OPERATIONS, MAINTENANCE

DEMOLITION

KEY TO HEALTH AND SAFETY SYMBOLS

These notes are based on the use of experienced and competent
contractors carrying out the work using an approved safe method
of working

INDICATES A RESIDUAL RISK FOR INFORMATION

INDICATES A RESIDUAL RISK AS A WARNING

INDICATES A RESIDUAL RISK REQUIRING A COMPULSORY
ACTION

INDICATES A RESIDUAL RISK REQUIRING A PROHIBITIVE
ACTION

Refer to general notes and the principal contractor for more
information about the risks associated with this work.

20/11/20

20/11/20

20/11/20

A01 06/11/20 First Revision for review PB PT PT

FOR APPROVAL

New Cable Containment Details

1 3

6710XTDLSG 6830

Scale: 1:20
Step extension (typical section)G

Scale: 1:10
Bespoke bridge fixing annd plate (front elevation)B

Scale: 1:20
Typical wall entry / exit (plan)F

Scale: 1:10
Typical top of wall (section)CScale: 1:20

Bespoke bridge fixing (section)A Scale: 1:10
Typical refuge bracketD Scale: 1:10

Typical wall fixingE

W6a - 2ND GEN

CLASS- 55, 58, 66, 73, 92

LOCO-   2nd GEN OVERTHROW

MARK I, MARK II, MMARK III

ELECTRO STAR CLASS 375, 8 & 9
ELECTROSTAR CLASS 377-2
CLASS 442-13
CLASS 445, 465, 508
DESIRO THAMESLINK

LINE TYPES USED FOR KINEMATIC ENVELOPES

B01 20/11/20 For Review PB PT PT

NR COLOUR CODING KEY

OS / Survey Data

Existing or Unchanged

New, Proposed, or Additional

Redundant or to be Removed

Modified or to be Moved

Temporary works

1. Overloading of fixings
2. Live rail
3. Falling troughing
4. Refuges
5. Falling objects during construction
6. Japanese Knotweed

1 2 43

1:10
ENGLARGEMENT

30
0

75

79

18

Verformung zulässig
Deformation allowed

12
0

120

111

222

30
0

N
A

C
H 

UN
TE

N
  9

0°
 

Winkel links / rechts sind identisch
Angle left / right are identical

(Werkstoff)

205099-03
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.12.20
Datum

Hinz
Name

Maßstab

Blätter

Blatt

Winkel für Wandbefestigung
Wall mounting bracket

1:1

DIN 7168-m S235   /  10.00
DXF-NP-Dateien
Castioni\Zg-Nr.

--

RW=55 x=18
Feuerverzinkt

30
0

75

79

18

Verformung zulässig
Deformation allowed

12
0

120

111

222

30
0

N
A

C
H 

UN
TE

N
  9

0°
 

Winkel links / rechts sind identisch
Angle left / right are identical

(Werkstoff)

205099-03
Kd.-Zg.-Nr.

(Toleranz) (Prg-Nr.:)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 02.12.20
Datum

Hinz
Name

Maßstab

Blätter

Blatt

Winkel für Wandbefestigung
Wall mounting bracket

1:1

DIN 7168-m S235   /  10.00
DXF-NP-Dateien
Castioni\Zg-Nr.

--

RW=55 x=18
Feuerverzinkt

Initial situation After the installation



30 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 31

LONDON  B R IDGE

 3
20

 

 406 

 10
5° 

 2
35

 

 45 

 
14 

 38,8 
 328,5 

 150 

 5
0 

 14 

 19 

 100 

205099-05-gerade

 194,4 

G

 15 
 45,8 

 14 

G (1 : 5)

A

205099-05-links-AS

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

205099-05-rechts-AS

205099-05-rechts
205099-05-links

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 09.12.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Adapter Bodenbefestigung kurz Gr.2
Adapter Floor Fixing Bracket short Size 2

1:5

DIN2768-m St37-2  Feuerverzinkt

205099-05

Art.-Nr.: 

A Variante hinzu 11.12.20 Hz

 3
20

 

 406 

 10
5° 

 2
35

 

 45 

 
14 

 38,8 
 328,5 

 150 

 5
0 

 14 

 19 

 100 

205099-05-gerade

 194,4 

G

 15 
 45,8 

 14 

G (1 : 5)

A

205099-05-links-AS

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

steel surface: hot-galvanized thickness of 60-80 microns

205099-05-rechts-AS

205099-05-rechts
205099-05-links

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 09.12.20
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

Adapter Bodenbefestigung kurz Gr.2
Adapter Floor Fixing Bracket short Size 2

1:5

DIN2768-m St37-2  Feuerverzinkt

205099-05

Art.-Nr.: 

A Variante hinzu 11.12.20 Hz

NOTES

1. Do not scale from this drawing. Use figured dimensions only.
If in doubt ask.

2. All dimensions in millimeters unless otherwise stated. All
levels in metres.

3. This drawing is to be read in conjunction with all other
Engineer's, Architects and Specialist's drawings, the
specifications, bill of quantities and contract documents.

4. Elevated trough to be Scot Parnell ARCOSYSTEM Type 2
supported as indicated.

5. Elevated trough supports are to be provided at a maximum
of 6000mm c/c with additional supports provided as required
to facilitate spans between fixed existing positions (i.e.
across the bridge).

6. Trough system is to be secured as per the manufacturer's
literature with a security strap lid closer (size 2) item no.
VT12-P002-1091.

7. Wall mounted troughs are to be fixed using the denoted
brackets using HILTI Hit V-R rods (M12; embedment as
indicated) and HILTI Hit HY-270 injection mortar.

8. Ground level troughs are to be Anderlite C/1/43 type or
similar approved. The Contractor is to ensure sufficient
trough is available for re-use.

9. Anderlite trough lids to be saw cut as required. Cut edges are
to be treated with Bitumen paint.

10. New steelwork to be coated with N1 coating system in
accordance with NR standard NR/L3/CIV/039. Finish and
colour to match adjacent brackets where possible.

11. De-vegetation works are to be undertaken as required (by
Others). De-vegetation works are to consider the potential
presence of invasive species (such as Japanese Knotweed).

HV
S&T

ETE

Existing galvanised steel stair landing

GRP walkway (38mm) mounted on GRP  C channel (203 x 55mm w/ angle
cleats) and pedestal. Tek screws to connect mesh with EQA using square
recessed M8 washers.

Galvanised steel angle (150 x 150 x 10; min. S275)

3No. M12 fixings spaced equally (min 25mm. from any edge)

≈1
80

40
0

Existing wall / coping unit

6000 c/c (max.)

45° (Vt)
Universal hinged swivel
wall bracket (size 2)
VT12-P002-Z504

Single plane swivel wall bracket (size 2) 30° to wall CL (Hz) VT12-P002-Z502

Detail to be reversed  as required for incline/decline and deviations onto/off the existing wall

Existing wall CLSee notes
for fixing
details

DUCT OMITTED FOR CLARITY

Min. 1000

Minor deviation in plan may be required to accommodate change in stand-off

Bespoke refuge
bracket

Detail to be
mirrored following
refuge

350

LID RETENTION
OVERHANG OMITTED
FOR CLARITY

30
0

3No. M12 bolts to be
drilled and fixed on site

to avoid bridge stiffener
fixings

120
2No. 120 x 120 x 10 EQA (min grade S275)

1172

See enlargement for further details

4No. M12 fixings (see notes )

Raking out and
re-pointing required
where mortar will be
inaccessible due to
new trough location

Size 2 trough

Single plane swivel wall bracket size 2
(180); VT12-P002-Z502
or
Universal hinged swivel wall bracket
size 2 (180) VT12-P002-Z504 at changes
in angle (Vt only)

Dimension unknown

2No. M12 fixings (150mm embedment)
M14 holes to suit M12 fixings. Holes
offset 50mm from all edges (i.e. 400mm
c/c)

32
0

50

200

735

30

23
5

6

All connections to have 6mm fillet weld

2No. M12 fixings (50mm embedment)
M14 holes to suit M12 fixings. Holes offset
50mm from all edges (i.e. 300mm c/c)

Coping stone shown indicatively only

Size 2 trough

Optional hinge/retainer via pre-drilled holes,
washers, Kevlar/nylon strap and pop rivets (drilled
and fixed on site; 2No. per lid)

30° floor fixing (size 2)
VT12-P002-1074 secured with Tex

screws (drilled on site)
500mm wide min.

grade S75 steel plate

Existing wall

Size 2
trough

Floor fixing straight (size 2)
VT12-P002-1070

To be fixed with over-drilled
Tex screws

406

23
5

120

79

18 13 75
 c

/c

14

30
0

10

16
41 (max. without
additional plate)

280

37
37

37
37

14
9

25 25

10075

4No. 50mm long M12 threaded studs
welded to plate face

M14 holes to suit M12 fixings

6mm thk. min. grade S275
Additional plate allows for larger
spacing between EQA (see detail

B) to accommodate existing
bridge modifications (thk.

unknown).

Proprietary trough, lid and wall
bracket (size 2)

TO BE REPRODUCED IN COLOUR ONLY

N430-PAS-DRG-CV-024 B01

As Shown

P.Thurlwell

P.Thurlwell

P. Bennett

Cable Containment
London Bridge

N430 Thameslink Remedial Works

BAM Nuttall

Notes below are additional to hazards/risks normally associated
with this type of work. Number reference correspond to
Designer's Risk Register references.

SAFETY, HEALTH AND ENVIRONMENTAL INFORMATION

CONSTRUCTION

OPERATIONS, MAINTENANCE

DEMOLITION

KEY TO HEALTH AND SAFETY SYMBOLS

These notes are based on the use of experienced and competent
contractors carrying out the work using an approved safe method
of working

INDICATES A RESIDUAL RISK FOR INFORMATION

INDICATES A RESIDUAL RISK AS A WARNING

INDICATES A RESIDUAL RISK REQUIRING A COMPULSORY
ACTION

INDICATES A RESIDUAL RISK REQUIRING A PROHIBITIVE
ACTION

Refer to general notes and the principal contractor for more
information about the risks associated with this work.

20/11/20

20/11/20

20/11/20

A01 06/11/20 First Revision for review PB PT PT

FOR APPROVAL

New Cable Containment Details

1 3

6710XTDLSG 6830

Scale: 1:20
Step extension (typical section)G

Scale: 1:10
Bespoke bridge fixing annd plate (front elevation)B

Scale: 1:20
Typical wall entry / exit (plan)F

Scale: 1:10
Typical top of wall (section)CScale: 1:20

Bespoke bridge fixing (section)A Scale: 1:10
Typical refuge bracketD Scale: 1:10

Typical wall fixingE

W6a - 2ND GEN

CLASS- 55, 58, 66, 73, 92

LOCO-   2nd GEN OVERTHROW

MARK I, MARK II, MMARK III

ELECTRO STAR CLASS 375, 8 & 9
ELECTROSTAR CLASS 377-2
CLASS 442-13
CLASS 445, 465, 508
DESIRO THAMESLINK

LINE TYPES USED FOR KINEMATIC ENVELOPES

B01 20/11/20 For Review PB PT PT

NR COLOUR CODING KEY

OS / Survey Data

Existing or Unchanged

New, Proposed, or Additional

Redundant or to be Removed

Modified or to be Moved

Temporary works

1. Overloading of fixings
2. Live rail
3. Falling troughing
4. Refuges
5. Falling objects during construction
6. Japanese Knotweed

1 2 43

1:10
ENGLARGEMENT

Security strap for lid

Initial situation After the installation



32 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 33

ARCOSYSTEM® Bridges >10 m with substructure



34 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 35

ARCOSYSTEM® Bridges >10 m with substructure



36 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 37

ARCOSYSTEM® Fixation to Ballast Boards



38 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 39

ARCOSYSTEM® Outhanging systems



40 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 41

ARCOSYSTEM® Outhanging systems



42 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 43

ARCOSYSTEM® Outhanging systems



44 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 45

ARCOSYSTEM® Outhanging systems large



46 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 47

ARCOSYSTEM® Installation on an angle adapter



48 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 49

ARCOSYSTEM® Wall fixing systems



50 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 51

ARCOSYSTEM® Installation on 90° sigmapost



52 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 53

ARCOSYSTEM® Installation on 90° sigmapost



54 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 55

ARCOSYSTEM® Installation on 90° sigmapost



56 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 57

ARCOSYSTEM® Outhanger for tube posts



58 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 59

ARCOSYSTEM® Accessories – Stainless steel sleeve Crossing >6 Meter with sigmapost



60 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 61



62 COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED ARCOSYSTEM® FOR BRIDGES + WALLS 63



E 05/22

Krähenbühl 8
CH - 5642 Mühlau AG
Phone: +41 56 670 2000

info@castioni.de
www.castioni-kabelkanal.com


